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 



 

 
 

 

 
 

 

  
 

  



 

– 
 

  

 – – 

 – – 
 

  

 





 
 

– 



 

  
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  

– 

– 

– 

 
 

  

–(Lisp) –(Prolog) 
 

 

 

 

  

– 

  

  

– 

 

  

– 

  

 

  

– 

  

– 

 



 
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 

  

 –  – 

 – – 

 – – 

 – – 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 
 

 

 

  

–(Robota) 

 

– 



 

 

 

 

 – 

  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  
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  

– 

  







 

  


 

  


 

  





 
 

  

 

 

  

  

  

  

  

 

 
 

 
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  

  
 

  
 

  

– 


 

– 

 



 

– 


 

– 


 

– 

 



 

 

 

 

 

 

 

 

 

 
 
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 

 

   

 

(Touch sensor) 





 
  

 

(Distance sensor) 

 

 

 
  

 

(Light sensor) 

 



 
 

 

 

(Sound sensor) 

 

 

 
  

 

 

 

 
 

 

 
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 

  

 

  
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 

 

 

 

 
 

 

  
 

 
 
 

  
 

 
 

  


 
 

 
 

 

   

 

(Dendral) 
 

 

 

(PUFF) 
 

 

 

(Prospector) 


  

 

(Design Advisor) 
 

 

 

(Lithian) 
 

 
 

 

  
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 

  

 

 

 

 

 
 

  

 

 



 
 

 

 

 



 

  
  

  

  

  
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 

  

 

 

 

  

 

 

 

 
 

–(eXpertise2Go) 

 

 

 

 

 
 

 

 
 
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 

  

 

 

 

 

 

 

 
 

  

 

 

 
 





 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
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 



 

 

 
 

 

 
 

  
    

  
  

 

 

 
 

 

  

– 

– 

– 
 

  

 

– 

– 
 

 

 

 

 

 

 

 

  

    
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  

– 

 

– 

– 

 

– 

– 

– 

– 
 

  

 

 

 

 

 

 

 

 

 

 

 

– A,B,D,C,G,E,F,H,I  
–  A  
–– BD,C 
–D   (A–B–D) 
–    

 

 

A 
 

B 
 

G 
 

D 
 

C 
 

E 
 

F 
 

H 
 I 

 
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 

  

 
 

– A,B,C,D,E,F,G,H,I,J,K,L,M,N,O,P 

–   A 

––  
(B)(D) 

(E)(M) 

–(B)(J)   (B–D–J) 

–   (I,J,K,L,M,N,G,O,P)  
–(N) (A – C – F – N) 
–  

  

 

 

 

 

 

 

 

 

 

 
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  
 (X O) 

 (X)(O) 

 
– S 

–    

(S,D,C,H,E,F,G,K,M,R,N,B,Q,W) 
–  H – R - W 
–   

–   

 

(N,W) 

(E,G) 
  

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 



 

         38 

 

 
 

 

 
  

   
– 

– 

 

– 

  
 

  
 

 

 

 

 

  
 

  

 
(N) 

A–B–D–I–J–E–K–L–M–C–F–N 
 

  



 

         39 

  

 
     

 

  

 
 

(E)  
R–A–C-D–B-E 

 

 (K)  

 
   

S–A–C–E–F–G–H–J-K 
 (S-F-G-J-K) 



 

         40 

 

  

 
X  

S–A–M–E–R  
  

  

(2) S–N–H–K-W (1) S-B 
  

 

 (G) 

 
  

 
 

 
 



 

         41 

– 

  

 

 

– 



 

– 





 

–

 
 

 

 

 

 

  

  
 

 

 

 

  
  

  

  

  

  
 

 

 

 

 





 
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 

  
 

–

 

–

 

– 

 

 

 
  

      

 

  
  

  



 

 

  

 
 

      
 

 

 

 

 
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– 

  

 

  

– 

   

– 

– 

 

  

–  

– 

  

–  

–  
  

 

 (K) 
 (S) 

 F–G-H A–C–E G–J–K   
 E, H, K, I 
C E 



 
S–F–G–J–K  

 

 

 

 

 

 

 

 

 

 

 

 

 

 
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 

  

 

  

– 

  

–– 

  

–

   

 

  
–  

–  

–  
 

 

 

  
– 

– 

 

 

– 

  

 

– 
 

 

 

  
 

 

 
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 

  
– 

 

 

– 

 



 

  

 

 X 

 
 

– A,B,E,F,C,G,H,I,J,K,D,L,M,N 
– A 
– D, L, M, H, J, N 
– A – B – C – D - G – L  

 

 

 

 


